
 

1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 

NUMBER SYSTEM WORK SHEET  
 

1. Simplification  6 NEW 1 1.3  

7 OLD 1 1.1 to 1.8 

7 NEW 1 1.1 to 1.6  

8 OLD 1 1.1, 1.2, 1.3  

8 NEW 1 1.1, 1.2  

9 OLD  2.2  

9 NEW 2 3.2 

10 OLD  3.11 

10 NEW  3.4, 3.5, 3.6 

2. Surds & Indices  8 OLD 1 1.4 

9 OLD  2.5, 2.6  

9 NEW 2 2.1 to 2.4  

3. A.P & G.P 10 OLD  2.1 to 2.7 

10 NEW  2.4 to 2.10 

 

1. Simplify: 
3 2 2 3

4 2 4 2

(3 ) (2 )

(2 ) 3 4

 

  



 
 

RUf;Ff: 
3 2 2 3

4 2 4 2

(3 ) (2 )

(2 ) 3 4

 

  



 
 

Solution:  

  
3 2 2 3 6 6

4 2 4 2 8 4 2

(3 ) (2 ) 3 2

(2 ) 3 4 2 3 4

   

     

 


   
 

  = 6 4 6 8 23 2 4      
  = 3-2 × 22 ×42 

  = 
2

1 4 16
4 16

3 9


    

  = 
64 1

7
9 9
  
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2. Write the following rational numbers in descending and ascending 

order. 
3 7 15 14 8

, , , ,
5 10 20 30 15

  

 
 

gpd;tUk; tpfpjKW vz;fis ,wq;F thpir kw;Wk; VW thpirapy; 

vOJf. 
3 7 15 14 8

, , , ,
5 10 20 30 15

  

 
 

solution:  
 First make the denominators positive and write the numbers in 

 standard form as
3 7 15 14 8

, , , ,
5 10 20 30 15

    
. Now, the LCM of 5,10,15,20 

 and 30 is 60 (How?). Change the given rational numbers to their 
 equivalent form with common denominator 60. 

   
3 3 12 36

5 5 12 60

  
    

   
7 7 6 42

10 10 6 60

 
  


 

   
15 15 3 45

20 20 3 60

  
    

   
14 14 2 28

30 30 2 60

  
    

   
8 8 4 32

15 15 4 60

  
    

 Now, comparing numerators -36, -42, -45, -28 and -32 we see that  
   -28 > - 32> - 36 > -42 > - 45  

  That is, 
28 32 36 42 45

60 60 60 60 60

    
     

  and so, 
14 8 3 7 15

30 15 5 10 20

  
   

 
 

 Hence, the descending order of the given rational numbers is 

 
14 8 3 7

, , ,
30 15 5 10

 

 
 and 

15

20


 and its reverse order gives the ascending 

 order. Hence the ascending order of the given rational numbers is 

 
15 7 3 8

, , ,
20 10 5 15

  


and 

14

30
 

  

3. The product of two rational numbers is 
2

3


. If one number is 

3

7
, find 

the other. 

,U tpfpjKW vz;fspd; ngUf;fw;gyd; 
2

3


 MFk;. Xh; vz; 

3

7
 vdpy; 

kw;Nwhh; vz;izf; fhz;f. 
Solution: 
Let the other number be x 
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  Given, 
3 2

7 3
x


  

 Multiplying by the reciprocal of 
3

7
 that is 

7

3
. 

   
7 3 7 2

3 7 3 3
x


      

   
14

9
x


 

 
 

4. Evaluate : 
4 3 5 30 12 27

3 2 3 12 9 16

          
          
      

 

kjpg;G fhz;f. 
4 3 5 30 12 27

3 2 3 12 9 16

          
          
      

 

Solution:  

 
4 3 5 30 12 27

3 2 3 12 9 16

          
          
      

 = 
4 3 5 12 12 27

3 2 3 30 9 16

       
         

     
 

   = 
8 9 1 4 3 3

6 6 1 6 1 4

       
         

     
 

   = 
17 4 9

6 6 4

     
      

     
 

   = 
17 4 9 13 9

6 4 6 4

 
   

 
 

   = 
26 27 53

12 12




 
 

5. Divide 9 8  by 6 6  
9 8  vd;w KWil 6 6  My; tFf;f.  
Solution:  

  

1

9 9

16

6

8 8

6
6

 (Note that 18 is the LCM of 6 and 9) 

  = 

2

18

3

18

8

6

 (How?)  

 = 

1
2 18

3

8

6

 
 
 

 (How ?) = 

1

188 8

6 6 6

 
 

  
 

 = 

1
1 1

3 18
18 6

6
8 2 2 2

27 3 3 3

      
        

       
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6. Find the area of square whose side length is 3m + 2n - 4l 
3m + 2n - 4l  gf;f msT nfhz;l rJuj;jpd; gug;gsT fhz;f.  
solution:  
Area of square = side × side  
   = (3m + 2n – 4l) × (3m + 2n – 4l)  
   = (3m + 2n – 4l)2 
 We know that, (a + b + c)2 = a2 + b2 + c2 + 2ab + 2bc + 2ca 
 [3m + 2n + (-4l)]2 = (3m)2 + (2n)2 + (-4l)2 + 2(3m) (2n) +2(2n) (-4)  + 
 2(-4l)  (3m) = 9m2 + 4n2 = 16l2 + 12mn – 16ln – 24 lm  
Therefore, Area of square = [9m2 + 4n2 + 16l2 + 12mn – 16 ln – 24lm] sq. 
units.  

 
7. The cost of three mathematics books and four science books is 216. 

The cost of three mathematics books is the same as that of four 
science books. find the cost of each book. 
%d;W fzpjg; Gj;jfq;fs; kw;Wk; ehd;F mwptpay; Gj;jfq;fspd; 
nkhj;j tpiy 216. %d;W fzpjg; Gj;jfq;fspd; tpiyAk; ehd;F 
mwptpay; Gj;jfq;fspd; tpiyAk; rkk; vdpy;> xt;nthU Gj;jfj;jpd; 
tpiyiaf; fhz;f.  
solution:  
 Let the cost of a mathematics book be ìx and cost of a science book 
 be ìy.  
 By given data,  
  3x + 4y = 216     (1) 
  3x = 4y       (2)    

 The equation (2) becomes, x = 
4

3

y
   (3)  

 Substituting x in (1) we get, 
4

3 4
3

y
y

 
 

 
 = 216  

   4 4 216 8 216y y y      

   y = 
216

27
8

  

 substituting y = 27 in (3) we get, x = 
4(27)

3
 = 36  

 The cost of one mathematics book = ì 36. 
 The cost of one science book = ì 27  

 
8. A number consist of two digits whose sum is 11. The number formed 

by reversing the digits is 9 less than the original number. Find the 
number.   
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xU ,uz;L ,yf;f vz;zpd; ,yf;fq;fspd; $Ljy; 11. ,yf;fq;fis 
,lkhw;wp mikf;Fk; NghJ fpilf;Fk; vz; Ke;ija vz;iz tpl 9 
FiwT vdpy;> me;j vz;izf; fz;Lgpb.  
Solution:  
 Let the tens digit be x and the units digit by y. Then the number is 
10x + y.  
Sum of the digits is x + y = 11      (1) 
The number formed by reversing the digits is 10y + x.  
Given data, (10x + y) – 9 = 10y + x 
   10x + y – 10y – x = 9 
   9x – 9y = 9 
  Dividing by 9 on both sides, x – y = 1   (2) 
   Equation (2) becomes x = 1 + y   (3) 
  substituting x in (1) we get 1 + y + y = 11 
     2y + 1 = 11 
     2y = 11- 1 = 10  

     y = 
10

2
 = 5 

  Substituting y in (3) we get, x = 1 + 5 = 6  
  The number is 10x + y = 10(6) + 5 = 65  
 

 

5 Mark  
 

1. Evaluate using appropriate propertise. 
2 5 4 8 1 2

3 12 6 12 4 3

        
         

     
 

nghUj;jkhdg; gz;Gfisf; nfhz;L kjpg;G fhz;f. 
2 5 4 8 1 2

3 12 6 12 4 3

        
         

     
  

 
2. The difference between a number and its two third is 30 more than 

one -fifth of the number. Find the number. 
xU vz;zpw;Fk;> mjd; %d;wpy; ,uz;L klq;fpw;Fk; cs;s 
tpj;jpahrkhdJ> mjd; Ie;jpy; xU klq;if tpl 30 mjpfk; vdpy;> 
me;j vz;izf; fhz;f.  
 

3. If 
4 5 4 5

4 5 4 5

 


 
 = a + b 5 , find the values of a and b.  

 

4 5 4 5

4 5 4 5

 


 
 = a + b 5  vdpy; a kw;Wk; b ,tw;wpd; kjpg;Gfisf; 

fhz;f.  
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7.5 Mark  
 

4. The sum of (x + 5) observations is (x3 + 125). Find the mean of the 

observations 
(x + 5) tptuq;fspd; $Ljy; (x3 + 125) vdpy;> tptuq;fspd; ruhrhpiaf; 
fhz;f.  
 

5. A number consists of two digits whose sum is 9. The number formed 
by reversing the digits exceeds twice the original number by 18. Find 
the original number. 
xU ,uz;byf;f vz;zpd; ,yf;fq;fspd; $Ljy; 9. ,yf;fq;fis 
,lkhw;w fpilf;Fk; ,U ,yf;f vz;> Ke;ija vz;zpd; ,Uklq;iff; 
fhl;bYk; 18 mjpfk; vdpy;> mt;ntz;izf; fhz;f.  

 
10 Mark  
 

6. In a rectangle, if the length is increased and the breadth is reduced 
each by 2 cm then the area is reduced by 28cm2. If the length is 
reduced by 1 cm and the breadth increased by 2cm, then the area 
increases by 33cm2 . Find the area of the rectangle. 
xU nrt;tfj;jpd; ePsj;ij 2 nr.kP mjpfhpj;J mfyj;ij 2 nr.kP 
Fiwj;jhy;> mjd; gug;G 28 r.nr.kP FiwfpwJ. ePsj;ij 1 nr.kP 
Fiwj;J mfyj;ij 2nr.kP mjpfhpj;jhy;> nrt;tfj;jpd; gug;G 33 
r.nr.kP mjpfhpf;Fk; vdpy;> nrt;tfj;jpd; gug;igf; fhz;f.  

 
7. A gardener plans to construct a trapezoidal shaped structure in his 

garden. The longerside of trapezoid needs to start with a row of 97 
bricks. Each row must be decreased by 2 bricks on each end and the 
construction should stop at 25th row. How many bricks does he 
need to buy? 
xU Njhl;lf;fhuh; rhptf tbtpy; Rth; xd;wpid mikf;f 
jpl;lkpLfpwhh;. rhptfj;jpd; ePz;l Kjy; thpirf;F 97 nrq;fw;fs; 
Njitg;gLfpwJ. gpd;G xt;nthU thpirapd; ,UGwKk; ,uz;buz;L 
nrq;fw;fs; Fiwthf itf;f Ntz;Lk;. mt;tbikg;gpy; 25 
thpirfspUg;gpd;> mth; thq;f Ntz;ba nrq;fw;fspd; vz;zpf;if 
vj;jid?  
 

8. Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm,…, 24 
cm. How much area can be decorated with these colour papers? 
Nufhtplk; 10 nr.kP> 11 nr.kP> 12 nr.kP....> 24 nr.kP vd;w gf;f 
msTs;s 15 rJu tbt tz;zf; fhfpjq;fs; cs;sd. ,e;j tz;zf; 
fhfpjq;fisf; nfhz;L vt;tsT gug;ig milj;J myq;fhpf;f 
KbAk;?  
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15 Mark  
 

9. There are 12 pieces of five, ten and twenty rupee currencies whose 

total value is ₹105. But when first 2 sorts are interchanged in their 

numbers its value will be increased by ₹20. Find the number of 
currencies in each sort.  

Ie;J> gj;J kw;Wk; ,UgJ &gha; Nehl;Lfspd; nkhj;j kjpg;G ₹105 
kw;Wk; nkhj;j Nehl;Lfspd; vz;zpf;if 12. Kjy; ,uz;L tif 
Nehl;Lfspd; vz;zpf;ifia ,lkhw;wk; nra;jhy; Ke;ija kjpg;ig 
tpl ₹20 mjpfhpf;fpwJ vdpy;> vj;jid Ie;J> gj;J kw;Wk; ,UgJ 
&gha; Nehl;Lfs; cs;sd?  
 

10. The hypotenuse of a right angled triangle is 25 cm and its perimeter 
56 cm. Find the length of the smallest side.  
xU nrq;Nfhz Kf;Nfhzj;jpd; fh;zk; 25 nr.kP kw;Wk; mjd; Rw;wsT 
56 nr.kP vdpy;> Kf;Nfhzj;jpd; rpwpa gf;fj;jpd; msitf; fhz;f.  
 

11.  The sum of the digits of a three-digit number is 11. If the digits are 

reversed, the new number is 46 more than five times the old number. 

If the hundreds digit plus twice the tens digit is equal to the units 
digit, then find the original three digit number ?  
xU %tpyf;f vz;zpy;> ,yf;fq;fspd; $Ljy; 11. ,yf;fq;fis 
,lkpUe;J tykhf thpir khw;wpdhy; Gjpa vz; gioa vz;zpd; 
Ie;J klq;if tpl 46 mjpfk; gj;jhk; ,l ,yf;fj;jpd; ,U klq;NfhL 
E}whk; ,l ,yf;fj;ijf; $l;bdhy; xd;whk; ,l ,yf;fk; fpilf;Fk; 
vdpy;> me;j %tpyf;f vz;izf; fhz;f.  
 

NUMBER SYSTEM (Previous Year Questions)  
 

12.  The sum of three consecutive natural numbers is 3666, then find 
  the numbers.  
%d;W mLj;jLj;j ,ay; vz;fspd; $Ljy; 3666 vdpy; 
mt;ntz;fisf; fhz;f.  

         DEO – 2019  
 

13.  The difference between two numbers is 5 and the difference between 
their squares is 75, find the larger number.  
,U vz;fSf;F ,ilNa cs;s NtWghL 5> mtw;wpd; th;f;fq;fSf;F  
,ilNa cs;s NtWghL 75 vdpy; mt;tpU vz;fspd; nghpa kjpg;G 
ahJ?  

Group I Main 2019  
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